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Q.1 From the Following information of ABC Ltd. Prepare the cash Budget for April, {17)
May and June-22. .
(1) Cash and Bank Balance as on 1-4-22 is Rs.90,000.

(2) .

- | MONTH SALES PURCHASES WAGES OVERHEAD
: ' : . . EXPS.
February 9,00,000 4,50,000 1,80,000 1,68,750
March 6,75,000 4,05,000 1,62,000 1,46,250
April 9,75,000 4.95,000 2,16,000 1,01,250
May 13,50,000 7,20,000 2,25,000 2,13,750
June 7,50,000 3,60,000 1,89,000 1,68,750

(3) Assume 60% of the sales will be credit and remaining is cash sales.

(4) 50% of credits sales will be realized in the next month of sales, where as remaining 50% will be
realized in next to next month,

(5) Purchase of company is on credit of 1 month ( Credit period allowed by Traders is 1 month)

(6) Overhead expenses include Depreciation on fixed assets at Rs.33,750/-monthly.

(7) Wages is to be paid in 1 month and overhead expenses are paid in %2 month.

(8) Interest on Debenture Rs.56,250 is to be paid in June-22.

, : OR '
Q.1 (A) What is Credit policy? Explain the vatious variables of Credit policy (10}
(B) Write a note: Economic Ordering Quantity (EOQ) (07)
Q.2 (A) What is Cost of c:apital ? Describe the various concepts of cost of capital and 10y -

. explain its impoxtance.
(B) Explain cost of Equity capital and cost of Debt capital with appropriate ilfustrations..(07)

‘ OR
(.2 Balance sheet of KAPIS LTD. As on 31-3-2022 is as follows: (17
[iabilities Rs. Assets Rs.
Equity share capital (each | 21,00,000 | Fixed Assets; '
| of Rs.10) B I Cost Price 60,00,000
L . - Depreciation 24,00,000 | 36,00,000
Reserves and Surplus | 9,00,000 | Current Assets 33,00,000
(Retained Earnings) '
10% Preference share T 6,00,000
capital {each of Rs.100) :
12% Debentures (each of - | 24,00,000
Rs.100) '
| Current Liabilities 1 59,00,000
c 1 69,00,000 69,00,000
(p-T0.)




Additional Information: |

(1) Cost of Equity sha?re capital is 16% and cost of retained earnings {Reserve and surplus) is

1% Lower than cost of Equity share capital.

(2) Taxation Rate Applicable to the company is 50%

(3) average market value is as follows:.
{i) Equity share Rs 16 (ii) Preference share Rs.70

. Calculate the followings:

1}. Weighted averageicost of capital using Book Value Weights.
2) Weighted averagefcost of capital using Market Value Weights.

(iif) Debenture Rs.80

Q.3 Whatis ﬁnan01a1 plannmg‘? Explain the various factors affectmg financial planning in ~ (18)
detaiks
. OR |
Q.3(A) Distinguish Between: Over- Capitalization. VS under Capitalization. (09)
(B’) What is over capi?[alization? Explain Causes and remedies of over-capitalization. =~ (09)
Q.4 (A) What is capital structure? Explain the characteristics of an Ideal capital structure. (10')
(B) What is trading on Equity? Describe its Advantages and Limitations. (08)
: OR
‘(0.4 Balance sheet of KBC Ltd as on 31-3-2022 is as follows: . (18)
Capital X Lia | Rs. Assets Rg
Equity share capital 9.00,000 Fixed Assets 19,50,000
(each of Rs.10) : _
10% Debentures . 7,50,000 Current Assets 6,00,000
Reserves & Surplus - 4,50,000
o Current Liabilities 4,50,000
| 25,50,000 25,50,000

Total sales of the company were Rs. 30, 00,000. In which fixed expenses was Rs. 6,00,000 and
vamab}e expenses was Rs, 13,50,000, Rate of Taxation is 50%

1) Calculate all thi‘ee;types of leverage.

2). If EPS is Rs.0, Rs.1 and Rs.2.
- Then what would be the EBIT? Calculate it.
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